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= 3,750
2xtel 2= 2,972,532 2,033,045 939,487
= 455,371
s 101,730
= 359,549
= 2,055,882
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= 455,371
= 101,730
= 359,549
= 2,055,882
BE2Z AY 538,892 496,742 42,150
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OALEXt A A S S 6,000
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OS2 2AME FERARS X
100,000& x5 F*13] 500
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OFEAANAIS 449,328
—Z X 212y
9,620 & *20H *8A| 2Hx20L 10 307,840
-5 2 AxrEY
9,620 *20H «BA| 252 x 102! 76,960
—nSHl ¥ 20|
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—40 EE8& 404,800,000 *x11% 44,528
Oodoltie sHEolH 32,035
— &0 A 21|
9,620 *15H «BA| 220 x 18l 23,088
—EHag U Axey
9,620 15 *8A| 2H+5 LU+ 1& 5,772
-4 Bg= 28,860,000 *x11% 3,175
O0HIEE A T2 )2k 16,018
— &0 X 12|
9,620& *10H *6A| 220 L *x 18 11,544
—FEAY U oiRiey
9,620 10 *6A| 215 L« 1& 2,886
-4 BE8= 14,430,000 *11% 1,588
KNAZ2SH LR2] AFS (T EAFS) 330,302 197,712 132,590
< 214,696
= 115,606
101 @121b| 330,302 197,712 132,590
= 214,69
= 115,606
04 JI2tHNI22 s 330,302 197,712 132,590
OXEZ2SH LR2IAIE 2124t
9,620 * 19 6 A| 2H+202 * 10 219,336
& 142,568
= 76,768
OFF oxtsg
9,620& *19H «GA| 252 102! 54,834
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= 19,192
OnsEyl ¢ 20|
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= 6,650
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& 2,730
= 1,470
o4ty 2= 31,000
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= 10,850
OotM2 & X)) S 1,932
& 1,256
= 676
AMsE ZEE XA 281,466 205,652 75,814
= 109,459
o 172,007
101 2124d| 280,566 205,652 74,914
= 109, 109
= 171,457
04 JItHI22sES 280,566 205,652 74,914
OrlsEBRHEE AT (Rl0IS S HF=XIQ) 155,870
—QIAHI(10¥)
9,620 x5 A 2Hx27 L x10JH 2 * 10H 129,870
= 64,935
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—ar) BER(102)
150,000 10 &+ 10H 15,000
= 7,500
= 7,500
—2HZHI(10H)
5,000 x22! * 101 &= 10H 11,000
= 5,500
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= 1,500
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HEE 3 16,000 5,000 11,000
& 4,000
= 12,000
201 er23| 16,000 5,000 11,000
= 4,000
o 12,000
03 A= SHI 16,000 5,000 11,000
Oxsereal A HHzl(18]) 10,000
= 4,000
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Otfetgl= XXX A (THetel= Lkt
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—82A 41 & 2= ME 6,000
ARIHEH |4 X3 12,500 10,400 2,100
201 er23| 12,500 10,400 2,100
01 AtR2t2|HI 2,000 2,000 0
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OABIE ZADIY 22 =K & 2123 M
5,0002 *4000HK 2,000
03 A= SHI 10,500 8,400 2,100
OAtald FRDIY ALE Ws
500,000 22 1,000
OoMg=zd 29 X 9,500
—HERAs 22 1,000,000 #9042~ 9,000
— 2237 500
MBI FDIY SH(LR2IEE) 111,350 83,000 28,350
[ 83,500
= 8,350
= 19,500
307 elztol & 111,350 83,000 28,350
= 83,500
< 8,350
= 19,500
02 LB HAHE L 111,350 83,000 28,350
O(0IENAZI=D12 L Xtel ZE A 24|
2x 111,350
— 2 ERF 9 43,350
[ 32,500
= 3,250
= 7,600
—d=oE 68,000
[ 51,000
= 5,100
= 11,900
ARIEDIE SH(ARIEER) 24,306 0 24,306
[ 18,230
= 1,823
= 4,253
307 elztol & 24,306 0 24,306
= 18,230
[ 1,823
Ea 4,253
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S 4,920
a 7,980
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= 1,800
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o 1,260
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= 5,011
o 11,694
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[Ea 11,694
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03 A= SHI 5,000 1,500 3,500
O&L2u=H| 2,500,000& x2&H 5,000
= 2,500
= 750
= 1,750
301 LEetE N = 8,000 1,000 7,000




SN 2D
3 el E&
el Agolia 2 RSN (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
14 IIEt2 8= 8,000 1,000 7,000
OEs8go EE D 2XelEN(4H) 8,000
—WSHIX&A 50,0002 x2& =102 1,000
—FHERXES 300,000 x2E 102 6,000
—SXEUE(S3H| 8)
50,0002 x2&*102 1,000
307 elztol & 36,000 27,000 9,000
= 20,000
< 4,800
[Ea 11,200
02 2B HAHE L 36,000 27,000 9,000
OS2 Gl HEED LN2FD A
&) 2,000,000 «2E + 102 *90% 36,000
= 20,000
== 4,800
[Ea 11,200
2sddol FHIHAEE 41,000 0 41,000
= 16,500
== 4,950
o 19,550
201 2= 3,000 0 3,000
= 1,500
= 450
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Ea 1,050
301 Eet2 NS 8,000 8,000
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Ea 10,500
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14 J|Et2 43 8,000 8,000
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[Ea 4,060
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[Ea 10,000
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02023 FE et d X2 A
200,000 «10E =104 = 20,000
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[Ea 10,000
SSH 243t 178,760 140,092 38,668
SSH 243t 178,760 140,092 38,668
SSH 243 Xd 4,200 4,200 0
201 fet= 3| 4,200 4,200 0
02 S3=gHl 4,200 4,200 0
OXSAE AHARLIENWEH 3223
100,000 »12& 1,200
OXSAZE HARLIEINE S22l
3,000,000 10K 2 3,000
OiSssH NddH 29 174,560 115,892 58,668
101 @124H| 99,820 102,142 N2,322
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OAME=E 36,768
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—40EE 30,809,000 *11% 3,389
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OMRES & 224 =5 ¥
500,00024453] 2,500
OAXE(B4II, BIFFII| S)
100,000& * 122 1,200
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OnSESI YYRS0IE, BL2)
300,000& »202] 6,000
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1,000,0003 * 100H 2 10,000
207 HoHe| 22,000 0 22,000
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OntsZsH JI2HE =884
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301 LeEN= 12,000 0 12,000
14 J|EtE 4 S 12,000 0 12,000
Olt=gsot ¢Sl
500,000 »6IH 2 +4 12,000
307 212t01& 11,000 0 11,000
02 QIRIHAANGE R 11,000 0 11,000
Oxr2 EsH gs X 11,000
—A72 ISH SN
2,000,000 *37H 2 6,000
—Ane SSH 2s(&8301)
5,000,000 170 2 5,000
=g JdH 23 3,528,3% 661,743 2,866,652
= 193,797
[ 200,000
= 52,800
fia 431,798
CH 2,650,000
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HsHE =4 3,528,3% 661,743 2,866,652
= 193,797
[ 200,000
= 52,800
Ea 431,798
CH 2,650,000
HAsA A 58,000 48,000 10,000
201 er23 | 8,000 8,000 0
03 Ar=EHI 8,000 8,000 0
OAsHE ScI0EBRHAEE =29 8,000
—UX=2 (2, S X 8)
4,000,000 14] 4,000
—=9d| 2,000,000 *14] 2,000
—JIEt 2g83HI(8E )
2,000,000& *14] 2,000
301 EtE N = 50,000 40,000 10,000
14 DBt 2 a3 50,000 40,000 10,000
OFsA S K&
1,000, 0002 *50= 50,000
HsHE RIXZ A 337,000 350,370 213,370
= 168,500
= 50,550
[Ea 117,950
101 @1A4H| 31,340 29,950 1,390
= 16,670
= 4,701
= 10,969
MU IIRINZZENSES 31,340 29,950 1,390
OFs?E 4g3(19) 31,340
—Jl2=s 76,9603 x1H+330! 25,397
= 12,698
= 3,809
o 8,890
—wSH| & Al 260,000« 1H* 122 3,120
= 1,560
= 468
= 1,092
—40 288 235,250« 1H* 1238 2,823
= 1,412
= 424
= 987
201 er2 3| 126,060 100,020 26,040
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< 18,909
s 44,121
01 At2tltl 37,060 19,370 17,690
OFIs7HE 222 & MAE A S 29,060
—ASHE AtdlE M=
15,0002 *800= 12,000
= 6,000
= 1,800
= 4,200
—ZolZSEHUHSHE 22|
30,0003 x 122 360
= 180
== 54
o 126
—HAsHE EE= NH
5,0002 x25+1, 200K 12,000
= 6,000
= 1,800
Ea 4,200
—HsAE KN2HH 28 =23
260,000& *102] 2,600
= 1,300
= 390
[Ea 910
—?33 HAH=E 100,000 »7 & x33] 2,100
= 1,050
= 315
Ea 735
OHsHE SUIHI 2
200,000 ~4E* 102 8,000
= 4,000
= 1,200
o 2,800
02 s3=gHl 5,000 9,000 24,000
OFsele & S22
2,500,000 *2JH 2= 5,000
= 2,500
=S 750
s 1,750
HAr2EHI 84,000 71,650 12,350
OAsFE | Z28 29 84,000
—'gol2 QAICHES
250, 0003 *20H <23 10,000
= 5,000
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= 3,500
—ASHE OBHHON(RAEE S)
1,700,000& 102 17,000
2 8,500
= 2,550
2 5,950
—HesR 4722NE
3,000,000 %52 15,000
= 7,500
=S 2,250
s 5,250
—OI=2? E3tus AAl
250,00021%203] 5,000
2 2,500
< 750
2 1,750
~FSHE S2U0PBHAEIE WA
15,000,000 * 14| 15,000
= 7,500
== 2,250
o 5,250
—7Asele & 10,000,000 * 14| 10,000
= 5,000
< 1,500
2 3,500
—FsPE sl &0l
6,000,000 22 12,000
= 6,000
< 1,800
[Ea 4,200
301 EtE NS 38,800 39,200 A400
= 19,400
== 5,820
[Ea 13,580
11 AALEEIXIE S 12,000 4,000 8,000
OASAZDS AP
8,000& 150 102 12,000
= 6,000
== 1,800
o 4,200
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= 7,200
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= 5,000
=S 1,500
s 3,500
307 212+01& 40,800 61,200 /20,400
= 20,400
= 6,120
o 14,280
02 QB AANEE R 40,800 61,200 /20,400
OSZ0A 40127 T2 28| (4H8)
850,000 « 12«4 & 40,800
= 20,400
= 6,120
o 14,280
402 2I2F X201 & 100,000 120,000 220,000
= 50,000
= 15,000
o 35,000
02 QI AHE AL E R (01X THE) 100,000 120,000 /20,000
OFS0I9 & ZH A
50,000,000 #2JH 2 100,000
= 50,000
= 15,000
[Ea 35,000
HsHHE G2 17,667 23,400 N5,733
= 5,300
[Ea 12,367
201 =3 6,467 11,900 25,433
= 1,940
s 4,527
01 At2tltl 767 0 767
OFs FHus AStite S|
767,000 12 767
= 230
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03 &A= 5,700 11,900 26,200
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= 1,140
= 2,660
OF=s HPuUs A&
25,0003 *20H *23 1,000
= 300
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301 LB F 1,200 1,500 A300
= 360
= 840
11 HAAHIXIE S 1,200 1,500 A300
OFs HUDS HOILH]
20,0003 x20H 33| 1,200
= 360
= 840
307 212+01™ 10,000 10,000 0
= 3,000
[ 7,000
02 QIZHAAAIHE X 10,000 10,000 0
OH= ZHedst odl&Ed Addl X2
5,000,000 x2H 10,000
= 3,000
= 7,000
golithel H=sHE ERrusHsE 28 K2 64,234 54,673 9,561
308 AXISHMSOIN 64,234 54,673 9,561
1 BI 2SI E AR L E ALY 64,234 54,673 9,561
Odgolitisr HA=sHE Enus UIE 29 64,234
— AU X(18E 259) 33,455
—J AU X2 (2sH 23Y) 30,779
MRSl SHEAS IR(EsIIRISUR) 7,94 5,000 2,994
= 3,997
= 3,997
201 LB-2AY| 7,994 5,000 2,9%
= 3,997
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01 AtR2telt] 1,400 0 1,400
Og9sIITI|=sWs As kg AR
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= 3,200
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S 2,250
[Ea 5,250
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= 2,250
s 5,250
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adxt S) 1,500,000 x5 7t 7,500
= 2,250
Ea 5,250
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201 et 3| 4,000 0 4,000
01 AtR2te|Hl 4,000 0 4,000
Odoll A== SHOIX A2
4,000,000 * 14 4,000
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TERILPG HH 2t 2 X2 AFY 10,000 10,000
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2 35234l 10,000 10,000
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OZH?l LPGHH2Y AlM Ot 2te| ?I=& 161,960
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T 2,99
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= 7,500
Ea 17,500
02 SISO St =2 A 2 E A I 25,000 33,000 8,000
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= 16,875
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OLPGEI| AFEItT AIEIHE ALY
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[ 2,465,000
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o 739,400
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= 138,300
o 322,700
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403 AXIEHHSAH=201H 1,027,000 1,143,000 A116,000
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o 215,600
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[ 719,000
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[ 483,000
= 62,100
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403 MR HHMSAHE01H 690,000 0 690,000
[ 483,000
= 62,100
= 144,900
02 SO 2SO et =& 2 EF A I 690,000 0 690,000
O0I=2 0| AR AZEIHLA 690,000
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= 144,900
SOHE FHAXNA MS02H HE(MS R2) 607,000 568,000 49,000
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= 398,000
= 47,000
o 111,000
403 AXIEHMSA=01d 556,000 556,000 0
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1,000,000& * 12& 12,000
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01 =LHOAb] 16,200 16,200
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203 SR F=&IH| 3,600 6,900 A3,300
FASI LR 3,600 3,600 0
OFAN2ILRFAI 300,000 =12 3,600
Jl2dH(LX2IZ2SHE) 12,000 9,600 2,400
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01 =LHO4b 12,000 9,600 2,400
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Jl23HI(oHXIE) 7,200 9,600 A2,400
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O=U048l 20,0002 *32 %1202 7,200
JI23HI(KISHLE) 7,200 7,200 0
202 04| 7,200 7,200
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